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15,000 7/ 22,000 7/
/ /

H16 19,184 1,800 16,136 7,932
H15 15,093 1,425 12,759 6,756
H15 19,400 1,269 34,064 12,508
H8 17,230 1,376 12,967 2,414
HS5 21,510 1,500 9,642 6,509
H2 22,238 1,790 12,212 3,430
H1 8,880 1,452 9,687 7,171
17,648 1,516 15,352 6,674

1,200 1,800




21

150

25



500m

| L LD e

Lt ®

ey H'r_w_f—'_\ Q flﬁﬁ;‘e

TEFTWIENGe D5
- H =
Fid A w e
L EEREIE @ ol
8 it a
g B e -
B
i 2 XE e e 16
................ H_ 7 LRAFEHS ]
¢ £ il 3;5’5;%% T e
B, LEpRE ] o)
ao %
g T =Tl iﬂ
o SEIERRED
o DR e e Sy
@

=]
ot T RN

Hr e

- r.'b-
= ga‘ﬂzﬂ; 'Lﬂﬂﬁ’g’ltﬂg@
AT N e

1= + - S,

R T T L
. Kﬂ =
A pF A EhREe R, (5

) Nt & @ﬂm

s R = =
B W?ZP‘-:IfElfﬁE&[—:TD

B (S csmﬁ))[

W

21ha

T T ST i o e

s e e

JT




